ROLER

QU

Enber

cHZ

INSTRUKCJA OBSLEUGI



ZEPrb sy s ae
7




x1

x1

x1

x3

X1

x1

x1

x1

x1

X1

X2

x1

x1

x1

X1

X2

27777 %

.

==,

17

18

19

20

21

22

23

26

27

28

29

30

31

32

x1

X2

x4

X1

X2

x1

X1

x1

X2

X2

x3

x1

10

12

13

14

15

16




33 X1 M6x65 §—mmmw | x4
34  © X1 M6x55 x4
35 | &= X1 M6x20 &)mm = x8
36 @ x1 M6x16  &)mm X2
37 ® X1 M6x12 &)m x56
38 A X1 Mi0 ) x2
39 X1 M6 & x13
40 x1 @6x16 x25
J6 &) X1
@6x45 J—™ | x2
31.4x30 == X2
31.2x20 === X2
M6x20 &) m x8
M5x12 X2
M5 ® X2




34—

32—

—35

—24













10













15

16

292




Biuro Obstugi Klienta
Obstuga Klienta - kontakt@koler.pl
Serwis - serwis@koler.pl
www.koler.pl

Wszystkie instrukcje znajdziesz
na stronie www.koler.pl/instrukcje/

e

o
[=] B

Przepisy i porady
www.youtube.com/@KolerGrilleGazowe



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14

